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magld g(X)=3Xx-2 « f(x)=x%+5x—2 oI .1
O (f+9)(X)=(x* +5x—2) +(3x—2) =x* +8x—4

(i) (f —g)(x) = (X2 +5x—2) — (3x—2)

=Xx2+5x—2-3x+2=x?+2x

(i) (f x g)(X) = (X% +5x - 2)(3x—2)
=3x%—2x% +15x? —10Xx —6X + 4
=3x%+13x*-16x+4

X2 +5x-2
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sl g(X)=X+4  F(X)=x2-Tx+2 sy .2
() (f+9)(X) =(X* =7x+2) +(X+4) =x* —6X+6

(i) (f —g)(X) = (x> =7x+2) —(x+4)
=X’ -Tx+2-x—-4
=x*-8x-2

(i) (f - 9)(X) = (x> —=7x+2)(x+4)
=x° +4x* —Tx* —28X+2x+8

=x>-3x>-26x+8

X2 —7x+2
X+4

N
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(V) (fog)(x) = f(g(x))= f(x+4)
=(X+4)°-7(x+4)+2
=X*+8x+16—-7x—28+2
=x*+x-10

(vi) (gof )(x) = g(f (x))=g(x* = 7x+2)
=(x*-7x+2)+4

=x>—7x+6
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el g(x)=4x ¢ f(X)=2x-5 i)y .3

(1) (fog)(x) = f(g(x)) = f(4x)
=2(4x)-5
=8x-5

(i) (gof )(x) = g(f (x)) = g(2x-5)
=4(2x-5)
=8x-20

(iii) (fog)(2) = T (9(2)) = £ (8)
= 2(8)-5
~16-5=11

(iv) (gof )(8) = g(f (5)) = 9(2(5) -5)= 9 (5)
= 4(5) =20
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(i) f(x)=—2x+1

y=-2x+1
X=-2y+1

x—1:—2y:>y:1_TX

1-x
P ===
(x) 5
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(i) g (x) = 5x

y =5X

x:5y:>y:§

caty X
-9 (><)—5

X—4
(|||)f(x):T

y=3x+4
S (X)=3x+4
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